PreCalc

2.1 & 2.6 Practice Test
SOLVE EACH SYSTEM BY GRAPHING.
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Solve each system by elimination. N G o g .1
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Solve each system by substitution.
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~ SOLVE EACH SYSTEM OF INEQUALITIES BY GRAPHING. Poiled LI ‘;_5 -
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GRAPH EACH SYSTEM OF INEQUALITIES; with the restrictions: X<3 and Y>-3;
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~ GRAPH and FIND THE VERTICES FOR

EACH SYSTEM OF INEQUALITIES.
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GRAPH and FIND THE VERTICES FOR EACH SYSTEM OF INEQUALITIES.
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(1)Graph system of inequalities;
(2)Find the vertices;
(3)Find the maximum and the minimum for f(x,y).
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